N & 0l & AF S & M M

20158 = =0la Lt/ BEXF W ~ AIE S At
R s R SE=an);
M AZXGHI E2 Al
ol HEHS 34 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
H=sd s 24,896,477 24,614,845 281,632
= 225,000
J| 263,572
< 377,509
Al 24,030,396
AEZEGH| £E2 TA 22,121,107 21,093,825 1,027,282
= 225,000
J| 263,572
< 377,509
Al 21,255,026
s =4 6,418,201 6,452,581 A 34,380
Hsz & tUBIEHM 54 1,894,350 2,228,409 A 334,059
201 Let249] 4,680 4,680 0
01 At 22/l 4,680 4,680 0
o4& U3l & MM =22 3,000, 000& 3,000
OMSTUEEAZ E4Y 70,000 128 #2373 1,680
202 (44l 2,500 2,500 0
01 S LHOYI 2,500 2,500 0
OL3 HEUaub(E,&8=2) 2,500,000 2,500
203 YR =&l 12,800 12,800 0
03 AIHZ=XH R =ZH| 12,800 12,800 0
OHEHE 84 S 2= 12,800, 000& 12,800
307 21201 A 1,874,370 2,208,429 A 334,059
02 LB AANGFEX 650,000 2,208,429 A 1,558,429
OM=3 & HUBINEHAA 130,000, 000& 130,000
OHMe1sl BIEHMESUHS =& EX
350,000,000 350,000
OHMe1al ZIEMESUHE SA4EH =
50,000,000 50,000
Os=E 2& 80 =8 120,000
—g2gxd 20,0003 *2A| 2 %202 x125H 100,000
—=28&H ¥ ANEAER 20,000, 000& 20,000
03 BIAHMNHE2IHIEE 1,224,370 0 1,224,370
OS2 MEH 2EEXS 683,770
— QI 24 H| 527,033,000& 527,033
— MBS A 48,044,000 48,044
— 23l 91,788,000& 91,788
— g sl 16,905, 000 16,905
OXM=3 AMRA dX= 40,600,000 40,600
OFRHFC 243t AY 500,000, 000& 500,000
StudsE 4 760,200 800,400 A 40,200
307 glz2tol & 760,200 800,400 A 40,200
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R s R SE=an);
M AZXGHI E2 Al
ol HEHS 34 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 YAFLAANFEE 730,200 770,400 240,200
OHl408 Il stdHsUz EMdEX
8,000,000& 8,000
OstuM=s=XEX K& 382,200,000 382,200
Oogtnzss 4 340,000,000& 340,000
04 QIZFHALAIH B = 30,000 30,000 0
ORMI152] AIZHH SN sU3 30,000,000 30,000
24203 !X € SEXR 160,000 180,000 220,000
307 21201 A 160,000 180,000 220,000
02 LAFAAFEE 20,000 40,000 220,000
OHMosl d=2M=U= s=&8EX 10,000,000 10,000
OHM44sl 8=a2EMSUE 282X
10,000, 000& 10,000
04 DIZHHALALSE E X 140,000 140,000 0
O, d303 ol& 3l =l 140,000, 000 140,000
ANE AE2s® 29 3,603,651 3,243,772 359,879
301 et a = 3,535,298 3,240,179 295,119
Vo=t - 2SRES24=3 3,535,298 3,240,179 295,119
OXF2SE &= Jles 225,013,000 225,013
OXNY2ESR = do= 41,254
- &2+ 225,013,000 x1/12& 18,752
— ZBE S| 225,013,000 1.2/ 12& 22,502
OXF2EsR = Y &sHl=<
459,500 1H «42 J| 1,838
OXNHY2ESRE 2= s 4,320
— X 40,0002 «5H 128 2,400
— ZAIE 20,000 «8H 122 1,920
o= =& 250,000& x5H x 123 15,000
OXY2sR 2 30 (HEH)
1,400,000, 000& 1,400,000
Oozs=sgazaas 150,000, 000& 150,000
Ofx=dx HdEH| 300,000,000 300,000
O=JtHEdYg X&
500,000& x4 «12& 24,000
Od =t Z&dl(Aldl,2HAHl, S=24])
31,0003 »48H 25 x 123 446,400
O2s=RE A 5,000,000& 20 100,000
O=2s® B8& 198,517
—&THEE 1,910,626,000& *15/1,000 28,660
— AL EE 1,910,626,000% *29/1,000 55,409
— SOOI QLALE
55,409,000% *65.5/1,000 3,630
— 1828 1,910,626,000& *13/1,000 24,839
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R s R SE=an);
M AZXGHI E2 Al
ol HEHS 34 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— =30z 1,910,626, 000% *45/1,000 85,979
O2ss UWal&&l 40,000 48 »83| 6 92,160
O2s% 32U -2 dXsel
2,000,000& 4894 96,000
O2s?Il= 2 Fd 24 138,500
—-deR(ess 5) 25,000,000& 25,000
—-Fa2 (28 8) 20,000,000 20,000
- g2 (288 8) 8,500,000 8,500
—dsgr(2s=s 8) 15,000, 000& 15,000
-2 (2s8 8) 25,000,000& 25,000
—HUAR (2SS S) 45,000,000 45,000
O2ss Aol 10,000, 000& 10,000
Ost=ag AW Y| 13,500
- =4 2,000,000& 2,000
-4 1,500, 000& 1,500
— &3 5,000,000& 5,000
— HILIA 5,000,000 5,000
O&=S=Hl 880
— =g 10,0003 »8H x63| 480
—HLUAR 20,000 *4H »53] 400
Ozs2 =4 AdEKX 900, 000& *6IH 2~ 5,400
oz =4 g3 205,000
—ERF =4 100,000, 000 100,000
—HLUAR =4 105,000, 000& 105,000
OXF2ESE =2 2o 25,776
— &2/l 115,000 *6 &+ 12& 8,280
—SAJIAAERZ 60,0003 x6I A x12& 4,320
—dIIAEE 113,000& 61 A %123 8,136
— & -3t AIEZ 35,0003 6o 2+ 128 2,520
—d320l2a 35,0003 600 2122 2,520
Oo2ss® g |X2eltl 5,000,000 =6 CH 30,000
OXYzsE £d€Z 22l S MEHHIE 11,740
— &I E 350,000& 204 A +122 8,400
—&o o= A8 60,0003 x2Jf & x12& 1,440
— gzl 1,000 x50 *4Al 2tx90L 1,800
—E8I3MNERE=S 50,000& *23] 100
405 TtHabF S| 68,353 3,593 64,760
01 AL EFFHSHI 68,353 3,593 64,760
OX&E2s: g P2 25,513,000& = 1CH 25,513
O=A JIANE ¥ 1,200
—dIgE 400, 0003 = 1CH 400
— NI & DI 500,000 1CH 500
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2N
X ZH -
L= B

el

|
[ 0

|
e}

A

H0 o qfor

NS

=

0x Ot

ro
H
=

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
— &8 Xl eI Xl 200,000 104 200
— &30 50,000& =2 CH 100
OCU=dHE LA 41,640
—=H=2 d=E2MHE 18,300, 000& »2CH 36,600
—HEIHE 168, 000 *30H 5,040
HM=EAIE 21=Zet 2= ,006,276 1,024,380 981,896
= 225,000
= 312,500
Al ,468,776
ALY s ,693,776 1,024,380 669,396
2 225,000
Al ,468,776
201 et 1,500 1,500 0
02 22224l 1,500 1,500 0
O2EXE |A&cltl 1,500, 000& 1,500
401 AIEHIZ 28I ,692,276 1,022,880 669, 396
2 225,000
Al ,467,276
01 A& Hl ,680,000 1,020,000 660,000
OHOIEESZE ML SA 350,000,000& 350,000
OM=AE HE= 500,000, 000& 500,000
PEMs2 dZE WM 3A 400,000,000 400,000
2 120,000
Al 280,000
OR&EMEZ HHAUE LelHole EXSAt
150,000, 000& 150,000
2 105,000
Al 45,000
OBESST 444 2TH SXTA
180,000, 000& 180,000
OBUIC HE o232 MESSHEH &3 A
100,000, 000& 100,000
03 AIE S THHI 12,276 2,880 9,396
OANOCIESZE SFME ZAL AIER2THI
350,000,000& *0.72% 2,520
OMSAIE HE> AIZ20Udl
500,000,000& *0.72% 3,600
ORFMS2 dZE LHISAH A2
400,000,000 *0.72% 2,880
ORFEMEZ HHAUE L2lHolE ZXISA Al
=Rl 150,000,000& *0.72% 1,080
OZE2SE =4 224 EXSA
180,000,000& *0.72% 1,296
OSUWICHE StR22 MSSHEH &3 A
100,000, 000& *0.9% 900
O M= 312,500 0 312,500
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M MsSAEL
M ARG E2 T Al
S AL o=t 25 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
& 312,500
401 Al HI L £ 0HHI 312,500 0 312,500
& 312,500
01 A& HI 312,500 0 312,500
OO0 & A=SIS At 312,500,000 312,500
T 312,500
HEAE g2 11,258,540 11,197,023 61,517
A& S 2 ALY 8,983,046 8,998,800 N 15,754
307 QI2t0| ™ 8,983,046 8,998,800 N 15,754
05 oI2t2 &3 8,983,046 8,998,800 N 15,754
OFAEHSAE HHASH (SH)
8,983,046,000& 8,983,046
SUAMIMES2 A AISYI 397,376 382,255 15,121
307 QI2t01 ™ 397,376 382,255 15,121
05 A2t E = 397,376 382,255 15,121
ORAEHSANE HHALH (SUH)
397,376,000 397,376
CHYEXHMEH 29 1,878,118 1,815,968 62,150
101 @121l 344,325 0 344,325
04 JI2ZtH 22 XNHEE =+ 344,325 0 344,325
OLAN & 8Zod JI2ZMZE X 2124 313,412
—-J|I=223 5,940& x209A| 2t x12H x 102 148,976
—&03 5,940& x209A| 2+* 12 *400% 59,591
—g&E=zz2xg
5,940& x1 .58 *45A] 2 x 128 x 102 48,114
—sg=22xg
5,940& x1 .5 17 Al 2 x 128 x 102 18,177
— X E 5,940 #12H *8A| 2t x 15! 8,554
=] 130,000 x12H =10 15,600
— 1Sl 120,000& x12¥ *10& 14,400
OLA £ 2god JI2M2E2X EE2 30,913
—=0d3 283,412,000 *45/1,000 12,754
—2A2L2E 283,412,000& x29.95/1,000 8,489
— Lo QUAEE  8,489,000& x65.5/1,000 557
- 1888 283,412,000 x21.5/1,000 6,094
—MHEE 283,412,000& «10.65/1,000 3,019
201 LEr2 Y| 1,447,643 1,754,534 306,891
01 AFR2t2l bl 446,014 369,531 76,483
Ox=g & % A ARE 7Y 45,000
— Y, MST L AT
11,000,000& 11,000
— &4 L Eo 13,000,000& 13,000
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FAM: HEdsh
M AZXFI ES A
Eel: MSAE SX2el (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
—ANEES 6,000,000 6,000
—JIet 224 HIS 15,000,000& 15,000
O&EX=AI Ltz 120,000 »1CH*12& 1,440
Oda=) gz 50,0003 «7CH*12& 4,200
O3I&ItE Ml 300 800 «12& 2,880
OYEA Y ¥25 8XRY
65,000 x3% A 128 2,340
OXEIE HE=s 2M =8
110,000,000 & *3%*12& 39,600
ORolFH AAE KX I 250,000 128 3,000
OJIAHAH ¥ &8 225 #¢ 23,570
— JI A& 15,000, 000& 15,000
— &I &l 8,570,000 8,570
O3 ZelAAE R 2=l 16,566
— HUI(MX3I], oA D)
148,893, 000 & *6% 8,934
— SHOoIX el 69,381,000& x11% 7,632
OsgdsEHs &z ¢ 150,000 *2Al E 300
Os&E2 HEHI 11,400
—BHLIRIR (AL oY S)
50,0003 *3JH 123 1,800
— D20 ot 200& *4,000& <123 9,600
Ozs 28 2 Kel&d FAd|
2,200,000& =13 2,200
O=Zx 2 =H A 15,000& 128 180
OMeIAIZ2 8, &3t S4 Fdl
10,000& 1000 = 12& 1,200
OZ20Y 29 ZAM= 285,120
— AZHH 2 AH (=g S 58 R)
1,100,000& x13H x 12 171,600
— 293 BEAA(RI S 852)
860,000& x11H x12& 113,520
O0f2t 228Xt Z4ltl 3,283
— &4l 7,000 1 3652 2,555
— A 7,000& x2H x52=F 728
O=9x=Z2E KX 22t 45,0003 =83CH 3,735
02 =224l 1,001,629 1,385,003 A 383,374
OLEYE=HH Mot=E 23
16,617,500& =128 199,410
OLLEYUE=HH SAIIMA 23
20,750,000& 128 249,000
CusRY =2 5003 *9,884m «1.04%0.5 2,570
OdHMe 23 2,000,000& x23l 4,000
O&J|erM e e === 1,076,900& «12& 12,923
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M HSUED
M AZXGHI E2 Al
&2 MSALE sR2a (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
0227 4 ZHCIEE omze 248
169,400 128 2,033
OsZJl EIJIZA =2 200,000& = 13| 200
OJNAAD i B8 12,000& * 13l 12
ONACHHEY =2 440,000 * 13l 440
O HEAME M2
400,000 *2CH * 13 800
OFAES A= 220,000 =63l 1,320
OM== &3 F& 600,000 »23] 1,200
OM&Z «BAM 242 40,0008 *15] 40
AN goie HEasR
340,000 128 4,080
OAgEaltl 50,000& *13] 50
OTVed AHEZ= 7,000 «33CH 122 2,772
OQHY AMEZ 20,0003 +73| & *12& 1,680
O2gd A= 2,300,000& =20 13l 4,600
Od2I| M2 2,600,000& x20 13l 5,200
O=Hdecl TSI 6N Xl
6,700,000 x30H 13l 20,100
Oddiats YHEIX 838 WA
4,840,000 3CH*13] 14,520
OAlZ |RAXl2cltl 50,000,000& 50,000
OS2~ o2 ol2AH|(89)
3,160,000 x4H «12& 151,680
OZ2&E SHAZ 2l 15,000, 000& 15,000
ONUXI&E S| 18,000, 000 18,000
OLFYEZ= dH MIRS
19,999,910& =128 239,999
206 M= Hl 24,180 13,140 11,040
01 MHZ 4l 24,180 13,140 11,040
=& 2 JAHY 45 ¥ 14,580
—EHg ¢ 324 12,0002 x40 123 5,760
— S8 25,0003 x1501 =123 4,500
— 2N 60,000 6= *12& 4,320
O3XJIEH ¢ 800,000& »12& 9,600
401 AIEBIZ 201 8I 19,000 37,394 A 18,394
01 A& Bl 19,000 37,394 A 18,394
== ¥ =X 2yl 19,000,000& 19,000
405 XHoHF S HI 42,970 10,900 32,070
01 et ESFH S 42,970 10,900 32,070
Ox=Zs A& 2= 1,700,000& »2CH 3,400
Ox=g& =9 =Z2E 485,000& 624 30,070
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2AM: MsXs
HMM: ALXBII E2 T Al
Eel: MSAE SX2el CEERED)
. _ = SfE|
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
O+SH AFIE AAAZBY(PEEASH
£ 6%) 3,500,000& 3,500
OXsaAEHAMSII 3,000,000 =2CH 6,000
MEH s SHXE 2,438,090 2,419,841 18,249
J| 263,572
= 65,009
Al 2,109,509
MEHEUE He & s8XH 1,570,654 1,456, 169 114,485
202 044l 2,000 2,000 0
01 2L Y| 2,000 2,000 0
OF=2 & oz #EXNA SZ0H]
2,000,000& 2,000
203 €2 F=&d| 6,100 6, 100 0
03 AIZH =X 2 F XY 6,100 6,100 0
OMdEls 4 S gR2FX 6,100,000& 6,100
307 212t0| & 1,562,554 1,448,069 114,485
02 QIZHBAAIRE E X 840,554 991,069 A 150,515
OMEN=s EsEAHEs 41
6,260,000& x50 A & 3| 313,000
OMEle s=2gdes X9 32328 X
10,000, 000& *6IH A~ 60,000
OdldsHs2a 22X ol4d] & 22| 50,000
i als| 1,200,000 x4¥H x10& 48,000
— 22|l 2,000,000& 2,000
OMEN=® s &9 100,000
—220s 29 270,000¥ x45 = =82 97,200
—EEE ME S 2,800,000& 2,800
OEdEs2H =4 11,500, 000& *x5& 57,500
O - d=2 MESHsUHa Mz ¥ sSXMBX 120,054
- - &8=2 MEYsEUE e & sSdE2X
1,819,000 x66H 120,054
OHN263 FIEMEHMsUHFHE It
140,000,000 140,000
04 CIZ2tSHALALS B X 722,000 457,000 265,000
02015 AMEXY HOIEZE W& 7,000,000 7,000
OEHA2S 2AHI] M= 150,000,000 150,000
OB &FCH =32U13 50,000,000 50,000
OBHAB(MEHSIHR)) B2 HSUHE
IH = 280,000,000& 280,000
ORFHANB(MESHSER)I =203
40,000,000 40,000
OBHAH(MEMSI ) A20t0tHISHE
10,000,000& 10,000
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R s R SE=an);
M AZXGHI E2 Al
Sl MBS SSXY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORFANZ(MeH=Z)) dIHLAUS
20,000, 000& 20,000
OfFANZ (M=) d22ZAH2 s7U
3 30,000,000& 30,000
ORHANZ (M) dIWELUEUHS
20,000, 000& 20,000
SEANF(MEBHSIH)) dIFEFRUI
20,000, 000& 20,000
OFRHANZ (M=) dI0MAHE =
hal 20,000,000& 20,000
Ozts sl &8 N3
75,000,000& 75,000
oo MEessd 364,500 414,085 A 49,585
307 glz2+ol & 364,500 414,085 A 49,585
02 It M AMHEE 364,500 414,085 N 49,585
OHM3Bal M=ZHAMSUHSE =HILXE
17,000,000& 17,000
O24& ZUAM=sUH X 24,500
— JtWHEX X 2,000,000&*11&5= 22,000
— 0l Dt A& 2,500,000 2,500
OXZoHel & HO0ots HEWA 30,000
— Z AL 24| 625,000& x2H «12& 15,000
— Ao 5,000,000& =23l 10,000
—wWHH 2 AIEAEZ 5,000,000& 5,000
OXofe dads 208 2
4,800,000& +x7& = 33,600
OHMl52l BI-EMAMSUHE I X
60,000, 000& 60,000
OZIJEXNHMEMHAMSHE &I XA
10,000,000& 10,000
OXMeIXFa JtWHFI A XA
24.,600,000& 24,600
OZMWAARE SRH4+ SHX
2,200,000& x1Hx12& 26,400
O&elaHd ZedHl 250,000 «9H « 128 27,000
O=2H, 8=, ZU3 L& Z&3 X
32,400,000& 32,400
OZJI- M MENsUH FIHXSH
29,000, 000& 29,000
OM7sl RHAZHAE=ISF0HC &3
30,000,000 30,000
O MEX= X=X B XA
10,000,000 10,000
OZ2NREN d==A U3l 10,000, 000& 10,000
dEHs NS 351,936 324,864 27,072
J| 157,872
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SH: HEXESD
M AZXGHI E2 Al
el MBS ST (el:de)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 58,214
Al 135,850
307 glz2+ol & 351,936 324,864 27,072
J| 157,872
< 58,214
Al 135,850
02 HAFHAANFEX 351,936 324,864 27,072
OdEM= X=Xt BHX 351,936,000 351,936
J| 157,872
< 58,214
Al 135,850
AE=2N 02A 151,000 149,723 1,277
J| 105,700
< 6,795
Al 38,505
307 21240 151,000 149,723 1,277
J| 105,700
< 6,795
Al 38,505
02 It S AHE L 151,000 149,723 1,277
OAZ=24 0l A A Y 151,000, 000& 151,000
J| 105,700
< 6,795
Al 38,505
NEHE 4 (MSIED) 1,616,850 200,000 1,416,850
=34 XA 1,616,850 200,000 1,416,850
suwsE K& 1,616,850 200,000 1,416,850
308 AHAIEHHSOIA 1,616,850 200,000 1,416,850
08 WSII20HetE = 1,616,850 200,000 1,416,850
O&BUSR =g8na T2 24 673,000
= 326,400,000& 326,400
—ZA=Z 76,800,000& 76,800
— WSl 235,360,000 235,360
— OHEAIE 7Y 500,000& =304 15,000
- B8z 3,000& «6,480Y 19,440
Ositndy =28 22
30,000& x700¥ *103l 210,000
Oot=sxZY 22l (4X=x) 129,450,000 129,450
O=s332E HE(RAUS) 51,600,000 51,600
Os7& X (4&E) 54,000,000 54,000
OnA 2 USHA ZH(S2E)
498,800,000 498,800
HE2LAZH(MSEED) 53,520 53,520 0
Jl23&dl 53,520 53,520 0
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SN HEUED
M HER2GIU(MESIED)
chelr D123l (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Jl23l 53,520 53,520 0
201 LBH2d| 21,960 21,960 0
01 At 2t 2l 21,960 21,960 0
ORM2EII=ZHl 20,520
— 2 Et=ZH| 40,0003 19 «12& 9,120
— =24l 50,000 19 x12& 11,400
O=SAD Xz 120,000 128 1,440
202 Odl 27,360 27,360 0
01 = LH Yl 27,360 27,360 0
AREXI20YI 120,000 x19H 128 27,360
203 R =&l 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
ORAN2EIRFEHI 350,000& »12& 4,200
MEES(MsAED) 1,105,000 3,190,000 A 2,085,000
EdXE 1,105,000 3,190,000 A 2,085,000
QLTPYE=MEYH HS XS & & 1,105,000 1,140,000 A 35,000
311 X+ S0l A& & 105,000 140,000 A 35,000
01 Al -2 - FXNENLI XY S0l RS 105,000 140,000 A 35,000
ORREME=MEYH HE XS Ol Atate
3,000,000,000& *3.5% 105,000
601 XtL S A& & 1,000,000 1,000,000 0
01 Al -2 - FXNENLI) L= 1,000,000 1,000,000 0
OREME=NYH HEXNS Bzate
1,000,000, 000& 1,000,000
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